
ANSWER on Question #71730 – Math – Calculus 

QUESTION 

Given 

𝑦(𝑥) = 2𝑥5 + 𝑥2 −
5

𝑥2
 

Find 𝑑𝑦/𝑑𝑥  

SOLUTION 

As we know 

𝑑

𝑑𝑥
(𝑐 ⋅ 𝑦(𝑥)) = 𝑐 ⋅

𝑑𝑦

𝑑𝑥
 

𝑑

𝑑𝑥
(𝑥𝑛) = 𝑛 ⋅ 𝑥𝑛−1 

𝑑

𝑑𝑥
(𝑓(𝑥) ± 𝑔(𝑥)) =

𝑑

𝑑𝑥
(𝑓(𝑥)) ±

𝑑

𝑑𝑥
(𝑔(𝑥)) 

( More information:  ) 

In our case, 

𝑑

𝑑𝑥
(2𝑥5 + 𝑥2 −

5

𝑥2
) =

𝑑

𝑑𝑥
(2𝑥5) +

𝑑

𝑑𝑥
(𝑥2) −

𝑑

𝑑𝑥
(
5

𝑥2
) = 

= 2 ⋅ 5 ⋅ 𝑥5−1 + 2 ⋅ 𝑥2−1 − 5 ⋅
𝑑

𝑑𝑥
(𝑥−2) = 10𝑥4 + 2𝑥 − 5 ⋅ (−2) ⋅ 𝑥−2−1 = 

= 10𝑥4 + 2𝑥 + 10𝑥−3 ≡ 10𝑥4 + 2𝑥 +
10

𝑥3
 

Conclusion, 

𝑦(𝑥) = 2𝑥5 + 𝑥2 −
5

𝑥2
→

𝑑𝑦

𝑑𝑥
= 10𝑥4 + 2𝑥 +

10

𝑥3
 

ANSWER: 
𝑑𝑦

𝑑𝑥
= 10𝑥4 + 2𝑥 +

10

𝑥3
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